BEASHET) [(£54] * RERIRE (REH > 0.5)= 565 20224 FHIHA ~ 20224 H113HA 2022448168 (1) ~  2022411H208(8)

E0) BAIsR | BAR | B | B | &7 2: ® B | ®H | m& | KA | 7TEF | 0% | E=R ggﬁ WRAT | WITH g_f :g 7 Eg o7 2;; o7 WAR | Smik 5Lﬁ 53R | T | WBR | KA | 8IS | EAT 9:& o7 4&;5%; 4%;; 'k | BABEF iz 5 ;3% K/BB | WHIP [ MVP
LERENH 1.06 7 1 0 1 2| 1.000 0 0 17 68 60 6| 3.18 8| .133 7 1 0 0| 0.0 8| 424 0 0 0 4 2 41 2 3 0 1 0 0 1| 075 094 3
FI3E feK 3.00 2 0 0 0 0 - 0 0 3 17 14 2| 6.00 3 214 2 0 1 0 0.00 3 9.00 0 0 0 4 1 7 0 2 0 0 0 0 o| 067 200 1
SRR BAEE 6.75 2 0 0 0 0 - 0 0 2 2/3 19 12 2| 675 3] 250 2 1 0 0| 0.0 6| 20.25 1 0 0 6 2 6 0 1 0 0 0 0 o[ 033 338 1
Al sEt 13.50 1 0 0 0 0 - 0 0 2 14 11 2| 9.0 5| 455 5 0 0 0 0.00 2| 9.0 1 0 0 3 3 4 0 0 0 0 0 0 ol 100 350 0
Al fEXER 10.80 2 0 0 0 0 - 0 0 5 27 24 7 1260 10| 417 4 4 0 2| 360 3| 540 0 0 0 6 6 6 1 0 0 0 0 0 0 233 260 0
AR BE 1.06 3 2 0 0 0| 1.000 0 1 17 59 56 7 371 8 143 5 3 0 0 0.00 2 1.06 1 0 0 3 2 37 2 2 0 0 0 0 3] 350 059 2
KERK 3.91 10 3 1 2 2| 750 0 0 25 1/3] 132| 120 19| 675 36| .300 27 5 0 4 142 8 284 3 0 1 22 11 53 0 12 0 0 0 0 3| 238 174 3
KA EX 9.00 12 1 2 0 1| .333 0 0 25 136 | 117 13| 468 41 350 18 16 2 5/ 180 13| 468 2 2 2 30 25 53 1 9 0 0 0 0 3| 100 216 1
R RN 491 32 6 5 2 6| .545 2 3 91 2/3| 409 | 379 68 6.68 96  .253 52 25 3 16 | 157 19| 187 10 0 1 67 50| 185 4 26 0 0 0 0 13| 358 | 125 13
AEH 5.06 4 0 2 0 1| .000 0 0 16 81 72 10| 563 21 292 12 7 0 2 113 7 394 2 0 0 13 9 35 0 6 0 0 0 0 3| 143 175 1
JLrE RE 2.28 13 1 1 0 2| 500 0 0 23 2/3] 113 97 13| 494 19| .196 16 3 0 0| 0.0 14| 532 2 0 0 19 6 53 1 11 0 0 0 0 3] 093] 139 3
IR B2 0.00 1 0 0 0 0 - 0 0 1 7 6 1/ 9.00 2 333 1 0 1 0 0.00 0 0.00 1 0 0 3 0 2 0 1 0 0 0 0 0 -| 200 0
A B 5.47 10 1 1 3 1| .500 0 0 24 2/3| 118 110 10| 365 31| 282 22 5 3 1| 036 7| 255 1 0 0 22 15 62 1 6 0 0 0 0 0| 143 154 5
4 K fB 6.30 2 0 1 0 of .000 0 0 10 44 42 0 0.00 14| 333 10 1 2 1/ 090 2| 180 0 0 0 10 7 23 3 2 0 0 0 0 1| 000 160 1
4 K B 11.00 6 0 1 0 1| .000 0 0 9 52 38 2| 200 11| 289 9 1 0 1 1.00 9 9.00 4 0 1 12 11 20 2 2 1 0 0 0 of 022 222 0
g B 4.02 18 7 2 0 2| 778 0 0 65 300 | 247 51 7.6 48 | 194 29 14 1 4| 055 44 6.09 7 1 1 41 29| 129 4 15 0 0 0 0 5| 116| 142 10
7 BEFT 3.23 14 4 0 1 4| 1.000 0 0 39 169 | 151 25| 577 26 172 18 3 0 5 115 15| 3.46 2 0 1 20 14 90 0 10 0 0 0 0 1 167 105 5
HE K— 0.53 11 1 1 5 of .500 0 0 17 71 66 14| 741 11| 167 9 0 0 2| 1.06 5 265 0 0 0 7 1 32 1 8 0 0 0 0 3| 280 094 3
A B 0.53 3 1 1 1 0| .500 0 2 17 73 63 10| 529 9| .143 6 3 0 0| 0.0 6| 3.18 4 0 0 7 1 36 1 7 0 0 0 0 3| 167 o088 2
5 HHE 4.50 2 0 0 0 0 - 0 0 4 21 15 3/ 675 2 133 1 0 1 0 0.00 4 9.00 2 0 0 2 2 9 0 1 0 0 0 0 o 075 150 1
$#A KT 4,25 24 5 5 2 3| .500 0 1 65 2/3| 327 268 55 754 61 .228 43 12 1 5| 069 40 548 18 0 1 50 31| 119 9 24 0 2 0 0 6| 138| 154 11
AR K 12.00 3 0 0 0 0 - 0 0 6 34 26 5 750 7 .269 3 2 0 2| 3.00 7| 1050 1 0 0 9 8 13 0 1 0 0 0 0 o o071 233 0
B AX 36.00 1 0 0 0 0 - 0 0 1 9 7 0 0.00 5 714 5 0 0 0 0.00 1 9.00 1 0 0 4 4 1 1 0 0 0 0 0 o 000 6.00 0
Bif 5 3.05 19 5 6 0 3| 455 0 1 56 271|223 43 6.91 44 197 29 14 0 1/ 016 33| 530 13 0 2 46 19| 108 3 25 0 0 0 0 9 130 138 10
it R 27.00 1 0 0 0 0 - 0 0 1 6 6 0| 0.0 3| 500 1 1 0 1 9.00 0| 0.0 0 0 0 3 3 3 0 0 0 0 0 0 0 -1 300 0
BRI 9.00 1 0 0 0 1 - 0 0 2 8 7 2| 9.0 1 .143 0 0 0 1 450 1| 450 0 0 0 2 2 4 0 0 0 0 0 0 ol 200 100 0
FRAL KHE 6.96 13 1 3 0 1| .250 0 1 32 1/3| 179 135 30 835 36| 267 25 9 0 2| 056 38| 10.58 5 0 1 41 25 61 0 8 0 0 0 0 5| 079 229 4
£S =% 0.00 1 1 0 0 0| 1.000 0 0 2 7 6 0 0.00 0 .000 0 0 0 0 0.00 1 450 0 0 0 1 0 4 1 1 0 0 0 0 ol 000 o050 1
MR A 7.50 5 0 2 0 o .000 0 0 6 39 24 7| 10.50 6| .250 4 2 0 0| 0.0 13| 19.50 2 0 0 8 5 9 1 1 0 0 0 0 o 054 317 2
BE SR 9.00 6 1 0 0 0| 1.000 0 0 6 38 23 7| 1050 5 217 4 1 0 0 0.00 13| 19.50 2 0 0 6 6 11 0 0 0 0 0 0 o 054 3.00 0
BS i 0.00 1 0 0 0 0 - 0 0 1 6 5 0| 0.0 2| 400 2 0 0 0| 0.0 1 9.00 0 0 0 0 0 3 0 0 0 0 0 0 o 000 3.00 0
KE EA 4.35 38 8 9 4 2| 4n 1 5| 128 1/3| 614 529 64 449| 126 .238 85 24 5 12| o084 76 533 4 2 3 93 62| 289 5 45 0 0 0 0 17| 084 | 157 16
KE EH 2.57 3 1 0 0 1| 1.000 0 0 7 33 25 6| 771 3] 120 1 2 0 0| 0.0 7] 9.0 1 0 0 3 2 14 0 2 0 0 0 0 1| 086 143 1
Wit #A 3.36 29 8 3 2 1| 721 0 2 99 456 | 409 74 673 95 232 60 17 3 15| 136 34 3.09 12 0 1 58 37| 204 5 31 0 1 0 0 9| 218| 130 13
R 6.75 1 0 0 0 0 - 0 0 4 18 17 0| 0.00 6| .353 4 0 0 2| 450 1] 225 0 0 0 3 3 11 0 0 0 0 0 0 1| 000 175 0
HE X 27.00 1 0 0 0 0 - 0 0 1 8 8 0 0.0 5  .625 4 1 0 0 0.0 0 0.0 0 0 0 3 3 3 0 0 0 0 0 0 0 -| 500 0
EERIS 440 302 58 46 23 34] 558 3 16] 833 1/3] 3983] 3418] 558 6.03] 809 237 525] 177 23 84 091 443] 478 102 5 15| 631 407] 1740 48] 262 1 4 0 0 90| 126] 150] 113




